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fs/(fu + fd)

ng/(fu +fd)

0.125 £ 0.001 £+ 0.007
0.125 £ 0.001 +£ 0.007
0.122 £ 0.001 £ 0.006
0.125 £ 0.001 £ 0.006
0.116 £ 0.001 £ 0.006
0.120 £ 0.001 £ 0.006
0.121 £ 0.001 £ 0.006
0.116 £ 0.001 £ 0.006
0.116 £ 0.001 £ 0.006
0.122 £ 0.001 £ 0.007
0.112 £ 0.001 £ 0.006
0.107 £ 0.001 £ 0.006
0.115 £ 0.001 £ 0.008
0.111 £ 0.001 £ 0.007

0.324 +0.001 £ 0.025
0.281 +0.001 +0.018
0.257 £0.001 £ 0.017
0.245 £ 0.001 £ 0.017
0.227 £ 0.001 £ 0.015
0.210 £ 0.001 £ 0.015
0.194 +0.001 £ 0.013
0.191 +0.001 +0.014
0.172 +£0.001 £ 0.013
0.159 £ 0.001 £ 0.012
0.165 £ 0.001 £ 0.012
0.136 = 0.001 £ 0.010
0.126 +0.001 £ 0.010
0.109 £ 0.001 £ 0.009




